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[[=Yiva K4 FELHIFI—X il = il — TOTAL
1 & EZBfE ELFHER 35 37 36 39 147
2 Bk IESE LH0OH 42 38 39 35 154
3T e[ EL5)-vEl 40 39 36 40 155
3T hA RA JGMFEHE 37 41 40 37 155
5 INEF o JGMFEHE 38 44 38 36 156
XLLE, 52 %FKRES
6T =k IEX RN} 36 44 41 38 159
6T Nt A E=1GC 36 41 38 44 159
6T L BE TR 36 40 40 43 159
9 i B B 40 37 40 43 160
10T =X i £H0H 37 42 43 39 161
10T LA JEE RN} 39 40 37 45 161
10T BTH 3xt— INTFR 39 39 44 39 161
10T Fp £H0H 39 38 42 42 161
14 B EiE e 42 45 37 38 162
15T ki 3x FELH#IY 40 44 38 41 163
15T IR BERE REFIDFx 41 38 40 44 163
XLE,.16&2AEHKNIZHE
17T A3 E A=W F=Fr—F 42 44 38 40 164
17T JKIE Bk INTFR 41 41 40 42 164
19T BA IF THIEGC 41 40 40 44 165
19T =A E1T =7 -VEl 41 39 40 45 165
19T =R fE# e 39 40 43 43 165
22 AR BB RN} 42 42 42 40 166
23T IR {EMmER TR 43 46 40 39 168
23T ;IO XHER RN} 43 41 41 43 168
25T hE 85F BERF 40 44 42 43 169
25T -y gHE 43 39 46 41 169
27T R 8L RN} 43 45 41 41 170
27T RIE A% HIRGC 40 47 44 39 170
27T AHE Bz =] 39 47 43 41 170
30 BRX £ FEELHOY 39 43 46 43 171
31 s £B B 46 37 41 48 172
32 HH &= £H#2YGC 41 44 43 49 177
33 8R;3 =ER TAIGL 43 50 46 44 183
34 EH B B 49 46 46 46 187
Ri5 aH HX £H06H 41 40 - - -
Ri5 hlll B L=YL{9HR 42 43 - - -
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1B BHi5%E |404
JIE 2 K4 FEHIZI—X ouT IN GROSS
1 & EBfE ELFHEE 35 37 72
2 L BE INTFR 36 40 76
3T Nt A E1GC 36 41 77
3T Fh £H0H 39 38 77
3T i B = 40 37 77
6T hA RA JGMFHE 37 41 78
6T BTH 3xt— I\FHR 39 39 78
8T ek Y 39 40 79
8T =R fE# e 39 40 79
8T e[ ERwl R 40 39 79
8T =X Bl £HPH 37 42 79
8T LR FERE REFID £ 41 38 79
13T =k IEk Y 36 44 80
13T BAR {E1T =E15Y-vEl 41 39 80
13T Al EA E 3 38 42 80
13T ik IF=E LHOH 42 38 80
17T =l KX £HPH 41 40 81
17T BAH IF HIRGC 41 40 81
19T JKIE Bk I\FR 41 41 82
19T Iy = 43 39 82
19T BRX £ FELAOY 39 43 82
19T INEF JGMFEE 38 44 82
23 BE £8 = 46 37 83
24T hE 85F BRHEBRF 40 44 84
24T AR X oY 42 42 84
24T ;IA XEH Y 43 41 84
24T ki 3x FELADY 40 44 84
28T R &= £#ADYGC 41 44 85
28T il B L=YL19THIR 42 43 85
28T AR IFt8 INTFR 42 43 85
31T A3 B A=W F=Fr—F 42 44 86
31T BHR = Em 39 47 86
33T RIE AX HIRGC 40 47 87
33T D EiE = 42 45 87
33T TR & HIRGC 45 42 87
36 ZH 8L Y 43 45 88
37 IR {EmER INTFR 43 46 89
38 BTA MBxX INTFR 48 42 90
39 8R;3 =ER TAIGL 43 50 93
40 EH B = 49 46 95
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